AR AR

SRER®R
H 3
Ap(1) - By(1) =0 < y = pe”
AAp—-Bp=0 —> A=diag(, A, -, 4y,)
D=[ ¢ ¢ - ¢ ]
ADA — BD =0 R LR SR X
MAG, B, =0 —> L' A9, —¢"B"¢, =0
A;A¢;—B; =0 => 2,¢" A9, — 4" B¢, =0
[H#M. C. k¥R
@TA¢/' = a,-6,, &= (/l, - ;Lj )‘kTA¢/ =0
¢T3¢1 = blélj
_ b — RSN
a; — SR T

D' AD=a

A DP'BDO=b

#15-1

SREUR RGNS A %0 =[0 0] x=[0 17,
ENL TS

k=m=c=1
X1 X2

k k 2k
c c c
Mx+ Cx+ Kx=0

1 0 2 -1 2 -1
M = , C= , K=
o a2 2} 3]
I XN A L2 S
Tlo 25 T "’“’:[_1 14

TNREMFRE !

)

SRR
Ja) ek Al LA BEL 2 R Se 38 3 77 FE AT ff Al 2
Mx+ Cx+ Kx= f(t) _[x(®
y ﬁ’) = {x(t)}

Mx— Mx=0

T S
M 0 ||% 0 -M||lx/ 10
Ap(t)- By(t)= () —REHR

SRS

RS
FOARZS 0 AT HH 5 40 B 6 K 1125 41 1) 2440 i 1) 2 2
SRS A R rh e S
»()=dq q — 2nYE RS AL by )
AJEL(f)—By(f):O
G-Aq=0 TR GRS, RS TTRE O AR
Gi—Aq:=0,i=1,2,---,2n
(1) = g,(0)e*
q=dq, d=diage™, ", -, ")
qo=a'@" Ay(0)

»(1)=Ddg,

#15-1
2 4110
fc M) |- 202
A_[M 0] 1 0 00
0 2 00
2 1 00
{—K 0} 1 =300
B= =
0O M 0 0 10
0O 0 0 2
(AA=-B)p=0
(0)—{x(0)}—[0 00 1




#15-1

A=diag(-1.1727+1.0321i,—-1.1727 - 1.0321i,
—0.3273+0.9578i,-0.3273 - 0.9578i)

115-1

S 0.1878 + 0.07072
0.9113 — 0.0887¢
—0.2933 + 0.1100:

a=3"Ad

gy =a~'@" Ay(0) =

—0.4754 — 0.3428i  —0.4754 + 0.3428¢

—0.4841 — 0.3440:  —0.4841 + 0.3440:
0.1878 — 0.0707¢

—0.4744 — 0.5256i —0.4744 + 0.5256i
0.9113 + 0.0887i 0.4879 — 0.3510¢ 0.4879 + 0.3510¢
—0.2033 — 0.1109:  0.6586 — 0.28241 0.6586 + 0.28244

= diag(—0.7712 + 0.3610i, —0.7712 — 0.3610i, —2.5255 — 0.0166i, —2.5255 + 0.01661)
b=3a"Bd

= diag(0.5320 — 1.2193i, 0.5320 + 1.2193i, 0.8423 — 2.41344, 0.8423 + 2.4134i)

—0.3291 — 0.3374:

—0.3291 + 0.3374¢ y(t) - lquo
0.3784 + 0.4138:

0.3784 — 0.4138:
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